
Sky Tutorial / Parakh Scholar -50 Test  Paper / 11th to 12th Moving Students / Pg. No. | 1 

Sky Tutorials : Kabir Nagar Durgakund, Varanasi – 7510020006, 9696571381 

                                                                                                   
 

 
 
 

 
 

 
 

 

 

 
 

[For 11th to 12th Moving Students] 

 
 

 

 
 

 INSTRUCTION: ¼ funsZ”k½ 

 Duration of test is 120 Minutes and Question Paper contains 75 Questions in Math Group, and 80 

Questions in Bio Group. The Maximum Marks are 300 for Math Group, and 320 for Bio Group. 

ijh{kk dh vof/k 120 feuV gSa rFkk iz”u i= esa dqy 75 iz”u gS eSFk xzqi esa] vkSj 80 iz”u ck;ks xqzi esaA vf/kdre vad 

300 eSFk xzqi ds fy, vkSj 320 vad ck;ks xzqi ds fy, gSA 

 Students cannot use Log Table, Mobile and Calculator or any other Digital Instrument in the 

 examination hall. 

 fo|kfFkZ;ksa dks ijh{kk d{k esa ykWx Vscy] eksckby] vkSj dSydqysVj ;k fdlh vU; fo|qr ;a= dk mi;ksx oftZr gSA 

 Student must abide by the instruction issued during the examination, by the invigilators or the centre incharge. 

 ijh{kk ds le; fo|kFkhZ dks ijh{kd }kjk fn;s x;s funsZ”kksa dk ikyu djuk vko”;d gSA 

 Before attempting the question paper ensure that it contains all the pages and no question is missing. Read each 

 question carefully. 

 iz”u i= gy djus ls igys fo|kFkhZ vk”oLr gks tk,a fd blesa lHkh ist layXu gSa rFkk dksbZ iz”u NwVk u gksA izR;sd 

iz”u /;kuiwoZd i<+sA 

 Each correct answer carries 4 marks.  

 izR;sd lgh mRrj ds 4 vad gSa xyr mRrj ij vad ugh dkVk tk,xkA 

 A candidate has two write his/her answers in the OMR sheet by darkening the appropriate bubble with the 

 help of Blue/Black Ball Point Pen only. 

 ijh{kkFkhZ dks gy fd;s x;s iz”u dk mRrj iqfLrdk esa lgh LFkku ij d soy uhys@dkys cky IkkabUV isu ds }kjk mfpr xksys 

dks xgjk djds nsuk gSA 

 Use of pencil is strictly prohibited. 

 isfUly dk iz;ksx oftZr gSA 

Name of the candidate:____________________________________________________________ 

 

 

 Signature of the candidate: ______________Signature of the invigilator:_______________ 
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                                             PHYSICS                                                         Hkk Sfrd foKku
 

1. The value of the sum of two vectors A  and 

B  with   as the angle between them is  

(a) 2 2A B 2ABcos    

 (b) 2 2A B 2ABcos    

(c) 2 2A B 2ABsin    

 (d) 2 2A B 2ABsin     

 
 

2. If two vectors 2 3  ˆˆ ˆi j k  and ˆˆ ˆ4i 6 j k     

are parallel to each other then value of  be  

(a)  0 (b) 2 

(c) 3 (d)  4 

 

3. SI unit of pressure is 

(a) Pascal  (b) 2Dynes /cm   

(c) cm  of Hg  (d) Atmosphere 

 

4. The SI unit of momentum is 

(a)  
kg

m
 (b) 

kg.m

sec
 

(c) 
2kg.m

sec
 (d) kg Newton  

 

5. Two bodies of different masses am  and bm  

are dropped from two different heights a  

and b . The ratio of the time taken by the 

two to cover these distances are   

(a) a : b  (b) b : a  

(c) a : b  (d) 2 2a : b  
 

 

6. A stone dropped from the top of the tower 
touches the ground in 4 sec. The height of 

the tower is about       

(a) m80  (b) m40  

(c) m20  (d) 160 m  

 

7. If a particle moves in a circle describing 
equal angles in equal times, its velocity 

vector 

(a) Remains constant  

(b) Changes in magnitude 

(c) Changes in direction 

(d) Changes both in magnitude and 

direction 
 

 

 

 

 

 

 

1. nks lfn”kksa A


 rFkk B


 ds e/; dks.k   gks rks buds 

;ksx dk eku gksxk  

(a) 2 2A B 2ABcos  

 (b) 2 2A B 2ABcos    

(c) 2 2A B 2ABsin    

 (d) 2 2A B 2ABsin     

 

2. ;fn nks lfn”k  ˆˆ ˆ2i 3j k   rFkk ˆˆ ˆ4i 6 j k     

,d nwljs ds lekUrj gksa rks  dk eku gksxk 

(a) 0  (b) 2 

(c) 3  (d) 4 

 

3. SI  i)fr esa nkc dk ek=d gS  

(a) ikLdy (b) Mkbu@lseh 2 

(c) ikjs dh lseh esa yEckbZ (d) ok;qe.My 

 

4. laosx dk SI  dk ek=d gS 

(a) fdxzk@ehVj (b) 
fdxkz  eh

ldS .M
 

(c) 
2

fdxkz  eh

ldS .M
 (d) fdxzk   U;wVu 

 

 

5. am  o 
b

m  æO;eku ds nks fi.Mksa dks Øe”k% a  o 

b  Å¡pkbZ;ksa ls fxjk;k tkrk gSA fi.Mksa }kjk bu 

Å¡pkbZ;ksa dks r; djus esa yxs le; dk vuqikr 

gksxk  
(a) a : b   (b) b : a  

(c) a : b   (d) 2 2a : b  

 

6. ehukj dh pksVh ls ,d iRFkj iF̀oh ij fxjk;k tkrk 

gS tks tehu rd igq¡pus esa 4 lsds.M dk le; ysrk 

gSA ehukj dh Å¡pkbZ yxHkx gksxh        
(a) m80   (b) m40  

(c) m20   (d) 160 m  

 

7. ;fn ,d d.k oÙ̀kh; iFk ij bl çdkj xfr dj 

jgk gS fd ;g leku le; esa leku dks.k varfjr 

djrk gS] rks bldk osx lfn”k 

(a) fu;r jgrk gS  

(b) ifjek.k esa cny tkrk gS 

(c) fn”kk esa cny tkrk gS  

(d) ifjek.k rFkk fn”kk nksuksa esa cny tkrk gS 
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8. In a circus stuntman rides a motorbike in a 

circular track of radius R  in the vertical 
plane. The minimum speed at highest point 

of track will be 

(a) 2gR  (b) 2gR  

(c) 3gR  (d) gR  
 

9. A player caught a cricket ball of mass 150 

gm moving at a rate of 20 m/s. If the catching 

process be completed in 0.1 s, then the force  
exerted by the ball on the hands of the 

player is 

(a) 0.3 N  (b) 30 N 

(c) 300 N  (d) 3000 N 
 

10. Rocket engines lift a rocket from the earth 

surface because hot gas with high velocity 

(a) Push against the earth 

(b) Push against the air 

(c) Reaction force against the rocket and 

push it up 

(d) Heat up the air which lifts the rocket 

 
 

11. A tuning fork makes 256 vibrations per 

second in air. When the velocity of sound is 
330 m/s, then wavelength of the tone 

emitted is 

(a) 0.56 m  (b) 0.89 m 

(c) 1.11 m  (d) 1.29 m 
 

12. When sound waves travel from air to water, 

which of the following remains constant 

(a) Velocity (b) Frequency 

(c) Wavelength (d) All the above 

 

13. A simple harmonic motion is represented by 

F(t) 10sin(20t 0.5)  . The amplitude of the 

S.H.M. is 

(a) a = 30  (b) a = 20 

(c) a = 10 (d) a = 5  
 

14. A body is executing simple harmonic 

motion with an angular frequency 2rad/s . 

The velocity of the body at 20 mm 

displacement, when the amplitude of 

motion is 60 mm, is  

(a) 40 mm /s  (b) 60mm /s  

(c) 113mm /s  (d) 120mm/s  

8. ldZl dk LVaVeSu Å/oZ ry esa R f=T;k ds oÙ̀kh; 

iFk ij eksVj-lkbfdy pykrk gSA iFk ds mPpre 

fcUnq ij bldk U;wure osx gksxk  

(a) 2gR  (b) 2gR  

(c) 3gR  (d) gR  

 

9. 150 xzke nzO;eku dh o 20 ehVj@lsds.M dh pky 

ls vkrh gqbZ xsan dks ,d fØdsV f[kykM+h dSp djrk 

gSA bl izfØ;k esa 0.1 lsds.M yxrk gSA xsan }kjk 

f[kykM+h ds gkFk ij yxk;s x;s cy dk eku gksxk 

(a) 0.3 N  (b) 30 N 

(c) 300 N  (d) 3000 N 
 

10. jkWdsV dk batu] jkWdsV dks iF̀oh dh lrg ls Åij 

mBkrk gSa D;ksafd jkWdsV ls vR;f/kd osx ls fudyus 

okyh xeZ xSlsa 

(a) iF̀oh ds fo#) cy yxkrh gSa 

(b) gok ds fo#) cy yxkrh gSa 

(c) jkWdsV ds fo#) izfrfØ;k cy yxkrh gSa rFkk 

mls Åij /kdsyrh gSa  

(d) gok dks xeZ dj nsrh gSa tks jkWdsV dks Åij 

mBkrh gSa 

 

11. ,d Lofj= ok;q esa 256 dEiu izfr lSd.M mRié 

djrk gSA ;fn /ofu dk osx 330 eh@ls gks] rks 

mRiUu rjaxnS/;Z gksxh 

(a) 0.56 ehVj  (b) 0.89 ehVj 

 (c) 1.11 ehVj  (d) 1.29 ehVj 

 

12. /ofu rjaxsa tc ok;q ls ty esa izos”k djrh gSa rc 

dkSulh jkf”k ugha cnyrh 

(a) osx  (b) vkof̀Ùk 

(c) rjaxnS/;Z  (d) lHkh 

 

13. ,d ljy vkorZ xfr dks lehdj.k% 

F(t) 10sin(20t 0.5)   ds }kjk çnf”k Zr fd;k 

tkrk gS ljy vkorZ xfr dk vk;ke gS 

(a) a = 30  (b) a = 20 

(c) a = 10 (d) a = 5  
 

14. ljy vkorZ xfr djrs gq, fi.M dh dks.kh; vkof̀Ùk 

2 jsfM;u@lsd.M rFkk vk;ke 60 feeh gSA 

lkE;fLFkfr ls 20 feeh foLFkkiu ij fi.M dk osx 

gksxk 

(a) 40 feeh@lsds.M (b) 60 feeh@lsds.M 

(c) 113 feeh@lsds.M (d) 120 feeh@lsds.M 

 

mailto:feeh@lsds.M
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15. If a simple pendulum oscillates with an 

amplitude of 50 mm and time period of 2 sec, 
then its maximum velocity is 

(a) 0.10 m / s (b) 0.15 m / s 

(c) 0.8 m / s (d) 0.26 m / s 
 

16. The coefficient of thermal conductivity 
depends upon  

(a) Temperature difference of two surfaces 

(b) Area of the plate 

(c) Thickness of the plate 

(d) Material of the plate 

 

17. The coefficient of thermal conductivity of 

copper is nine times that of steel. In the 

composite cylindrical bar shown in the 

figure. What will be the temperature at the 
junction of copper and steel   

 

 

 

(a) o75 C  (b) o67 C  

(c) o33 C  (d) o25 C  
 

18. A monoatomic gas ( 5 /3)   is suddenly 

compressed to 
8

1
 of its original volume 

adiabatically, then the pressure of the gas 
will change to    

(a) 
24

5
 

(b) 8 

(c) 
40

3
 

(d) 32 times its initial pressure 
 

19. First law of thermodynamics follows  

(a) Newton's law   

(b) Law of conservation of energy 
(c) Charle's law 

(d) Law of heat exchange 

 
20. The spherical shape of rain-drop is due to 

(a) Density of the liquid  

(b) Surface tension 

(c) Atmospheric pressure  

(d) Gravity 
 

 

 

15. ;fn ljy yksyd dh xfr dk vk;ke 50 feeh rFkk 

vkorZdky 2 lsds.M gks rc bldk vf/kdre osx 

gksxk 

(a) 0.10 eh@lsds.M (b) 0.15 eh@lsds.M 

(c) 0.8 eh@lsds.M (d) 0.16 eh@lsds.M 

 

16. fdlh /kkrq dk Å"ek pkydrk xq.kkad fuHkZj gksrk gS 

(a) nksuksa ik”oks± ds rkikUrj ij  

(b) ifêdk ds {ks=Qy ij 

(c) /kkrq ifêdk dh eksVkbZ ij  

(d) /kkrq ds inkFkZ ij 

 

17. rk¡cs dk  Å"ek pkydrk xq.kkad bLikr ds Å"ek 

pkydrk xq.kkad dk ukS xquk gSA fp= esa fn[kk;h 

x;h la;qDr csyukdkj NM+ ds laf/k-LFky dk 

rkieku gS  
 

 

 

 

(a) o75 C   (b) o67 C  

(c) o33 C   (d) o25 C  

 

18. ,d ijek.kfod xSl dk ;dk;d #)ks"e ifjorZu ls 

vk;ru] izkjfEHkd vk;ru dk 1/8 dj fn;k tkrk 

gSA ;fn = 5/3 gS] rks xSl nkc gks tkrk gS   

 (a) 
24

5
 

 (b)  8 

 (c) 
40

3
 

 (d) izkjfEHkd nkc dk 32 xquk 

  

19. Å"ekxfrdh dk izFke fu;e ikyu djrk gS 

(a) U;wVu ds fu;e dk   

(b) ÅtkZ ds laj{k.k ds fu;e dk 

(c) pkYlZ ds fu;e dk 

(d) Å"ek fofu;e ds fu;e dk 
 

20. o"kkZ dh cw¡nas xksykdkj gksrh gSa bldk dkj.k gS 

(a) ty dk ?kuRo  

(b) i"̀B ruko 

(c) ok;qe.Myh; nkc  

(d) xq#Rokd"kZ.k 

 
 

 
Copper Steel 

0
o
C 100

o
C 

6 cm 18 cm 

 
rk¡cs LVhy 

0
o
C 100

o
C 

6 cm 18 cm 



Sky Tutorial / Parakh Scholar -50 Test  Paper / 11th to 12th Moving Students / Pg. No. | 5 

Sky Tutorials : Kabir Nagar Durgakund, Varanasi – 7510020006, 9696571381 

21. Two droplets merge with each other and 

forms a large droplet. In this process   

(a) Energy is liberated  

(b) Energy is absorbed 

(c) Neither liberated nor absorbed 

(d) Some mass is converted into energy 

 
22. A tank is filled with water up to a height H. 

Water is allowed to come out of a hole P in 

one of the walls at a depth D below the 

surface of water. Express the horizontal 

distance x in terms of H and D 

 

 

 

 

 

(a) x D(H D)   

(b) 
D(H D)

x
2


  

(c) x 2 D(H D)   

(d) x 4 D(H D)    
 

23. An incompressible liquid flows through a 

horizontal tube as shown in the following 

fig. Then the velocity v of the fluid is 

    

 

 

 

 

 

 (a) 3.0 m/s (b) 1.5 m/s  

(c) 1.0 m/s (d) 2.25 m/s 
 

24. The temperature of a wire of length 1 metre 

and area of cross-section 1 cm2 is increased 
from 0°C to 100°C. If the rod is not allowed 

to increase in length, the force required will 

be 5( 10 / C   and 11 2Y 10 N /m )  

 (a) N
3

10  (b) 410 N  

 (c) 510 N  (d) 910 N  

 

 
 

21. nks NksVh-NksVh cw¡nsa feydj ,d cM+h cw¡nsa cukrh gSa, 
bl çfØ;k esa   

 (a) ÅtkZ eqä gksrh gS 

 (b) ÅtkZ vo”kksf"kr gksrh gS 

 (c) ÅtkZ u rks eqä gksrh gS vkSj u gh vo”kksf"kr 

 (d) dqN æO;eku ÅtkZ esa ifjofrZr gksrk gS 

 

22. fdlh ik= esa H Å¡pkbZ rd ty Hkjk gSA ty dh 

eqDr lrg ls D xgjkbZ ij fNæ P ls ty cg jgk 

gSA {kSfrt ijkl x dks H o D ds inksa esa fdl 

lEcU/k }kjk O;Dr fd;k tk;sxk  

 

 

 

 

 

 

(a) x D(H D)   

(b) 
D(H D)

x
2


  

(c) x 2 D(H D)   

(d) x 4 D(H D)    

 

23. ,d vlEihM~~; æo, fp=kuqlkj {kSfrt uyh ls cg 

jgk gSA æo dk osx v gksxk 
    

 

 

 

 

 

(a) 3.0 m/s (b) 1.5 m/s  

(c) 1.0 m/s (d) 2.25 m/s 
 
 

24. 1 ehVj yEch vkSj 1 lseh2 vuqçLFk ifjPNsn dh 

yksgs dh NM+ dk rki 0ºC ls 100ºC c<+k;k tkrk 

gSA ;fn NM+ dh yEckbZ dks c<+us ugha fn;k tkrk 

gS, rks blds fy;s cy dk ifjek.k gS 

¼
510 ºC   vkSj 

11 2Y 10 N m ½ 

 (a) 310 N  (b) 410 N  

 (c) N
5

10  (d) 910 N  

 

 

 

 

 

 

H 

x 

D 

 

v1 = 3 m/s 

v2 = 1.5 m/s 

A 

A 

1.5 A 
v 

 

H 

x 

D 

 

v1 = 3 m/s 

v2 = 1.5 m/s 

A 

A 

1.5 A 
v 
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25. A wire of length L and radius r is rigidly 

fixed at one end. On stretching the other end 
of the wire with a force F, the increase in its 

length is l. If another wire of same material 

but of length 2L and radius 2r is stretched 

with a force of 2F, the increase in its length 

will be  

(a) l          (b) 2l (c) 
l

2
             (d) 

l

4
 

 

CHEMISTRY 

 

26. Total number of atoms present in 34 g of 

NH3 is 

(a) 234 10   (b) 214.8 10  

(c) 232 10   (d) 2348 10  
 

27. What is the mass of carbon dioxide which 
contains the same number of molecules as 

are contained in 40 g of oxygen? 

(a) 40 g (b) 55 g (c) 32 g (d) 44 g 

 
28. What will be the energy of a photon which 

corresponds to the wavelength of 0.50
0

A ? 

(a)  153.98 10 J  (b) 153 10 J  

(c) 83.9 10 J   (d) 343 10 J  

 

29. Bohr’s theory can also be applied to the ions 

like  

(a) He+  (b) Li2+  

(c) Be3+  (d) All of these 
 

30. How many orbitals and electrons are 

associated with n = 4 ? 

(a) 32, 64  (b) 16, 32  
(c) 4, 16  (d) 8, 16 

 

31. An element has the electronic configuration 

1s2 2s2 2p6 3s2 sp6 3d8 4s2 

What will be its position in the periodic 
table? 

(a) Period 4, Group 10  

(b) Period 2, Group 2 

(c) Period 4, Group 2 
(d) Period 2, Group 8 

 

32. Which of the following ions contains 

minimum number of unpaired electrons? 

(a) Fe2+  (b) Fe3+  
(c) Co2+  (d) Co3+ 

 

25. ,d rkj ftldh yEckbZ L rFkk f=T;k r gSa, ,d 

fljs ij n<̀+rk ls c¡/kk gSA rkj ds nwljs fljs dks cy 

F ls [khapus ij rkj dh yEckbZ esa of̀) l  gksrh gSA 

blh inkFkZ ds ,d nwljs rkj dks, ftldh yEckbZ 

2L rFkk f=T;k 2r gSa, cy 2F ls [khapus ij bldh 

yEckbZ esa of̀) gksxh 

(a) l            (b) 2l (c)
l

2
             (d) 

l

4
 

 

jlk;u foKku 

 

26. NH3 ds 34 xzke esa mifLFkr ijek.kqvksa dh dqy 

la[;k gS 

(a)  234 10   (b) 214.8 10  

(c) 232 10   (d) 2348 10  
 

27. dkcZu Mkbv‚DlkbM dk æO;eku fdruk gS ftlesa 

v.kqvksa dh la[;k mruh gh gS ftruh 40 xzke 

v‚Dlhtu esa gksrh gS\ 

(a) 40 g (b) 55 g (c) 32 g (d) 44 g 
 

28. ,d QksV‚u dh ÅtkZ D;k gksxh tks 0.50
0

A  dh rjax 

nS/;Z ls esy [kkrh gS\ 

(a) 153.98 10 J  (b) 153 10 J  

(c) 83.9 10 J   (d) 343 10 J  

 

29. cksgj ds fl)kar dks vk;uksa ij Hkh ykxw fd;k tk 

ldrk gS 

(a) He+  (b) Li2+  

(c) Be3  (d) ;s lHkh 

 

30. n = 4 ls fdrus v‚fcZVYl vkSj bysDVª‚u tqM+s gSa\ 

(a) 32, 64  (b) 16, 32  

(c) 4, 16  (d) 8, 16 

 

 

31. ,d rRo dk bysDVª‚fud foU;kl gksrk gS 

1s2 2s2 2p6 3s2 sp6 3d8 4s2 

vkorZ lkj.kh esa bldk LFkku D;k gksxk\ 

(a) vof/k 4, lewg 10 

(b) vof/k 2] lewg 2 

(c) vof/k 4] lewg 2 

(d) vof/k 2] lewg 8 

 
32. fuEufyf[kr esa ls fdl vk;u esa U;wure la[;k esa 

v;qfXer bysDVª‚u gksrs gSa\ 

(a) Fe2+  (b) Fe3+  

(c) Co2+  (d) Co3+ 
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33. The first ionisation enthalpy of the elements 

are in the order of 
(a) C < N < Si < P (b) N < Si < C < P 

(c) Si < P < C < N (d) P < Si < N < C 

 

34. Hybridisation state of Xe in XeF2, XeF4 and 

XeF6 respectively are 
(a) sp2, sp3d, sp3 d2  

(b) sp3d, sp3d2, sp3d3 

(c) sp3d2, sp3d, sp3d3 

(d) sp2, sp3, sp3d 
 

35. Which of the following species has unpaired 

electrons? 

(a) N2 (b) F2 (c) 2O  (d) 2
2O   

 
 

36. Which of the following species has 

tetrahedral geometry? 

(a) 4BH   (b) 2NH   

(c) 2
3CO    (d) 3H O  

 

37. In thermodynamics, which one of the 

following properties is not an intensive 

property? 

(a) Pressure  (b) Temperature 
(c) Volume  (d) Density   
 

38. Which of the following relationships is not 

correct for the relation between H and 
U ? 

(a) When gn 0  then H U   

(b) When gn 0  then H U   

(c) When gn 0  then H U   

(d) When gn RT 0  then H U   

 

39. A system absorbs 50 kJ heat and does 20 kJ 
of work. What is the net change in the 

internal energy of the system? 

(a) Increase by 30 kJ     (b) Decrease by 30 kJ 

(c) Increase by 70 kJ     (d) Decrease by 70 kJ 

 
40. What will be the amount of heat evolved by 

burning 10 L of methane under standard 

conditions? 

(Given heats of formation of CH4, CO2 and 

H2O are 76.2, 398.8 and 241.6 kJ mol-1 
respectively) 

(a) 805.8 kJ  (b) 398.8 kJ 

(c) 359.7 kJ  (d) 640.4 kJ 
 

 

 

 

33. rRoksa dh çFke vk;uu ,UFkSYih fdl Øe esa gS\ 

(a) C < N < Si < P (b) N < Si < C < P 

(c) Si < P < C < N (d) P < Si < N < C 

 

 

34. XeF2, XeF4 vkSj XeF6 esa Xe dh ladj.k voLFkk 

Øe'k% gSa 

(a) sp2, sp3d, sp3 d2  

(b) sp3d, sp3d2, sp3d3 

(c) sp3d2, sp3d, sp3d3 

(d) sp2, sp3, sp3d 

 

35. fuEufyf[kr esa ls fdl çtkfr esa v;qfXer bysDVª‚u 

gksrs gSa\ 

(a) N2 (b) F2 (c) 2O  (d) 2
2O  

 

 

36. fuEufyf[kr esa ls fdl çtkfr esa prq"Qydh; 

T;kfefr gS\ 

(a) 

4BH   (b) 2NH   

(c) 2
3CO    (d) 3H O  

 

37. FkeksZMk;ukfeDl esa] fuEufyf[kr esa ls dkSu lk xq.k 

xgu xq.k ugha gS\ 

(a) ncko   (b) rkieku 

(c) vk;ru   (d) ?kuRo 

 

38. fuEufyf[kr esa ls dkSu lk laca/k H vkSj U  ds 

chp ds laca/k ds fy, lgh ugha gS\ 

(a) gn 0  fQj H U  dc 

(b) gn 0   fQj H U  dc 

(c) gn 0  fQj H U  dc 

(d) gn RT 0  fQj H U  dc 

 

39. ,d ç.kkyh 50 kJ Å"ek vo'kksf"kr djrh gS vkSj            

20 kJ dk;Z djrh gSA flLVe dh vkarfjd ÅtkZ esa 

'kq) ifjorZu D;k gS\ 

(a) 30 kJ dh of̀) (b) 30 kJ dh deh 

(c) 70 kJ dh of̀) (d) 70 kJ dh deh 

 

40. ekud ifjfLFkfr;ksa esa 10 yhVj ehFksu tykus ls 

mRiUu Å"ek dh ek=k D;k gksxh\ 

(CH4, CO2 vkSj H2O ds fuekZ.k dh Å"ek Øe'k% 

76.2, 398.8 vkSj 241.6 kJ mol1 gS½ 

(a) 805.8 kJ  (b) 398.8 kJ 

(c) 359.7 kJ  (d) 640.4 kJ 
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41. Study the given graph and choose the 

correct option. 

 
 

(a)  H Net heat absorbed from the 

surroundings 

(b)  H Net that given to the surroundings 

(c)  H +ve for the reaction 

(d) H Total energy possessed by the 
reactants 

 

42. If the equilibrium constant for the given 

reaction is 0.25 

NO 2 2

1 1
N O NO

2 2
 will be 

(a) 1 (b) 2 (c) 3 (d) 4 

 
43. For which of the following reactions,                          

Kp = Kc ? 

(a) 3(g) 2(g) 5(g)PCl Cl PCl  

(b) 2(g) 2(g) (g)H Cl 2HCl  

(c) 2(g) 2(g) 3(g)N 3H 2NH  

(d) 3(s) (s) 2(g)CaCO CaO CO  

 

44. The reaction 2 2 32SO O 2SO + Heat, 

will be favoured by 

(a) high temperature and low pressure 

(b) low temperature and high pressure 

(c) high temperature and high pressure 

(d) low temperature and low pressure 
 

45. Which of the following is conjugate acid of 
2
4SO ?  

(a) 4HSO   (b) H  

(c) 2 4H SO   (d) 2
4SO   

 

46. Oxidation numbers of Mn in its compounds 
MnCl2, Mn(OH)3, MnO2 and KMnO4 

respectively are 

(a) 2, 4, 7, 3     (b) 2, 3, 4, 7     

(c) 7, 3, 2, 4     (d) 7, 4, 3, 2     

 
 
 
 
 
 
 

41. fn, x, xzkQ dk v/;;u djsa vkSj lgh fodYi 

pqusaA 

 
 

  

(a) ifjos'k ls vo'kksf"kr 'kq) Å"ek 

(b) usV tks ifjos'k dks fn;k x;k gS 

(c)  çfrfØ;k ds fy, +ve 

(d) vfHkdkjdksa }kjk /kkj.k dh xbZ dqy ÅtkZ 

 

 

42. ;fn nh xbZ çfrfØ;k ds fy, larqyu fLFkjkad 0.25 

gS 

ugha 2 2

1 1
N O NO

2 2
 gksxk 

(a) 1 (b) 2 (c) 3 (d) 4 
 

43. fuEufyf[kr esa ls fdl çfrfØ;k ds fy,] Kp = Kc\ 

(a) 3(g) 2(g) 5(g)PCl Cl PCl  

(b) 2(g) 2(g) (g)H Cl 2HCl  

(c) 2(g) 2(g) 3(g)N 3H 2NH  

(d) 3(s) (s) 2(g)CaCO CaO CO  

 

 

44. çfrfØ;k 2 2 32SO O 2SO Å"ek] }kjk b"V 

gksxh 

(a) mPp rkieku vkSj fuEu ncko 

(b) de rkieku vkSj mPp ncko 

(c) mPp rkieku vkSj mPp ncko 

(d) de rkieku vkSj de ncko 

 

45. fuEufyf[kr esa ls dkSu lk la;qXe 
2
4SO 
vEy gS 

(a) 4HSO   (b) H  

(c) 2 4H SO   (d) 2
4SO   

 
46. Mn ds ;kSfxdksa MnCl2, Mn(OH)3, MnO2 and 

vkSj KMnO4 esa v‚Dlhdj.k la[;k,¡ Øe'k% gSa 

(a) 2, 4, 7, 3     (b) 2, 3, 4, 7     

(c) 7, 3, 2, 4     (d) 7, 4, 3, 2     
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47. Which of the following is not an example of 

disproportionation reaction? 

(a) 3 44ClO Cl 3ClO     

(b) 2 2 2 22H O 2H O O   

(c) 2 2 3 22NO 2OH NO NO H O       

(d) TiCl4 + 2Mg Ti + 2MgCl2 

 
48. Correct name for the given compound, 

3 2 2 2 3

2 3 3

CH CH CH CH CH CH CH
| |
CH CH CH

     

 

(a) 3-ethyl-5-methylheptane 

(b) 5-ethyl-3-methylheptane 
(c) 1, 1-diethyl-3-methylpentane 

(d) 3-methyl-5,5-diethylpentane 

 

49. The correct decreasing order of priority for 

the functional groups of organic compounds 
in the IUPAC system of nomenclature is 

(a) 2 3CONH , CHO, SO H, COOH     

(b) 3 2COOH, SO H, CONH , CHO    

(c) 3 2SO H, COOH, CONH , CHO     

(d) 3 2CHO, COOH, SO H, CONH     

 

50. The following reaction is known as 
3AlCl

6 6 3 6 5 3(anhy.)
C H CH Cl C H CH HCl    

(a) Wurtz - Fittig reaction 

(b) Friedel-Crafts reaction 

(c) Rosenmund reaction 
(d) Sandmeyer reaction 
 

MATHEMATICS 
 

51. In a train five seats are vacant, then how 

many ways can three passengers sit 
(a) 20   (b) 30  

(c) 10   (d) 60 

 

52. The least value of (2sin2  + 3 cos2 ) is 
(a) 1  (b) 2 

(c) 
1

3
  (d) 

3

2
 

 

53. If (1 + by)n = (1 + 8y + 24 y2 + ......) then the 

value of b and n are respectively- 

(a) 4, 2  (b) 2, 4  

(c) 2, 4  (d) 2, 4 

 

47. fuEufyf[kr esa ls dkSu lk vuqikrghu çfrfØ;k dk 

mnkgj.k ugha gS\ 

(a) 3 44ClO Cl 3ClO     

(b) 2 2 2 22H O 2H O O   

(c) 2 2 3 22NO 2OH NO NO H O       

(d) TiCl4 + 2Mg Ti + 2MgCl2 

 

48. fn, x, ;kSfxd dk lgh uke] 

3 2 2 2 3

2 3 3

CH CH CH CH CH CH CH
| |
CH CH CH

     

 

(a) 3&,fFky&5&feFkkbygsIVsu 

(b) 5&,fFky&3&feFkkbygsIVsu 

(c) 1, 1&Mk;Fkkby&3&feFkkbyisaVsu 

(d) 3&feFkkby&5, 5&Mk;FkkbyisaVsu 

 

49. ukedj.k dh IUPAC ç.kkyh esa dkcZfud ;kSfxdksa 

ds dk;kZRed lewgksa ds fy, çkFkfedrk dk lgh 

?kVrk Øe gS 

(a) 2 3CONH , CHO, SO H, COOH     

(b) 3 2COOH, SO H, CONH , CHO    

(c) 3 2SO H, COOH, CONH , CHO     

(d) 3 2CHO, COOH, SO H, CONH     

 

50. fuEufyf[kr çfrfØ;k dks dgk tkrk gS 

3AlCl
6 6 3 6 5 3(anhy.)

C H CH Cl C H CH HCl    

(a) oVZ~t & fQfVx çfrfØ;k 

(b) ÝhMsy&f'kYi çfrfØ;k 

(c) jkslsueqaM çfrfØ;k 

(d) lSaMes;j çfrfØ;k 

 

Xkf.kr 

51. ,d jsyxkM+h esa ik¡p lhVsa [kkyh gSa] rks rhu ;k=h 

fdrus izdkj ls cSB ldrs gSa\  

(a) 20   (b) 30  

(c) 10   (d) 60 

 

52. (2sin2  + 3 cos2 ) dk U;wure eku gS  

(a) 1  (b) 2 

(c) 
1

3
  (d) 

3

2
 

 

53. ;fn (1 + by)n = (1 + 8y + 24 y2 + ......) gksa] rks b 

rFkk n ds eku Øe”k% gksaxs& 

 (a) 4, 2  (b) 2, 4  

 (c) 2, 4  (d) 2, 4 
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54. The line 3 2 x y k meets the circle 
2 2 24 x y r at only one point, if k2 = -----? 

(a) 220r   (b) 52 r2 

(c) 252

9
r   (d) 220

9
r  

55. In the four numbers first three are in G.P. 
and last three are in A.P. whose common 

difference is 6. If the first and last numbers 

are same, then first will be- 

(a) 2  (b) 4 

(c) 6  (d) 8 
 

56. If 2 25cos 7sin 6 0,   then the general 

value of  is …….? 

(a) 2n
4


   (b) n

4


  

(c) nn ( 1)
4


   (d) None of these 

 

57. 
5

3x 0

(1 ) 1
lim

(1 ) 1

 


 

x

x
 

 (a) 0  (b) 1  

 (c) 5/3  (d) 3/5 

 

58. The 5th term from the end in the expansion 

of 

93

3

2

2

 
 

 

x

x
is- 

(a) 63 x3  (b) 3

252


x
 

(c) 18

672

x
  (d) None of these 

59. The equation of a line parallel to x + 2y = 1 
and passing through the point of 

intersection of the lines x – y = 4 and                             

3x + y = 7 is- 

(a) x + 2y = 5 (b) 4x + 8y – 1 = 0 

(c) 4x + 8y + 1 = 0 (d) None of these 

 
60. Find the sum of first 27 terms of the AP              

a1, a2, a3,........ if it is known that a1 + a5 + a11 + 

a17 + a23 + a27 = 228 

(a) 1028  (b) 1026 

(c) 523  (d) None of these 

 

 

 

 

54. js[kk 3 2 x y k  oR̀Rk 
2 2 24 x y r  dk dsoy 

,d fcanq ij feyrh gS] ;fn k2 = -----? 

(a) 220r   (b) 52 r2 

(c) 252

9
r   (d) 220

9
r  

 

55. pkj la[;kvksa esa ls izFke rhu xq.kksÙkj Js.kh esa rFkk 

vfUre rhu lekUrj Js.kh esa gSa] ftldk lkoZvUrj 6 

gSA ;fn izFke rFkk vfUre in leku gksa] rks igyk 

in gksxk& 

(a) 2  (b) 4 

(c) 6  (d) 8 
 

56. ;fn 2 25cos 7sin 6 0,   rks   dk lkekU; 

eku gS&&&&\ 

(a) 2n
4


    (b) n

4


  

(c) nn ( 1)
4


   (d) buesa ls dksbZ ugha 

 

57. 
5

3x 0

(1 ) 1
lim

(1 ) 1

 


 

x

x
 

(a) 0  (b) 1  

(c) 5/3  (d) 3/5 
 

58. 

93

3

x 2

2 x

 
 

 
ds foLrkj dk vUr ls 5 ok¡ in gksxk& 

(a) 63 x3  (b) 3

252


x
 

(c) 18

672

x
  (d) buesa ls dksbZ ugha 

 

59. ml js[kk dk lehdj.k tks x + 2y = 1 ds lekUrj gS 

,oa js[kkvksa x – y = 4 rFkk 3x + y = 7 ds izfrPNsnu 

fcUnq ls gksdj xqtjrh gS& 

(a) x + 2y = 5 (b) 4x + 8y – 1 = 0 

(c) 4x + 8y + 1 = 0 (d) buesa ls dksbZ ugha 

 

60. lekUrj Js.kh a1, a2, a3,........  ds izFke 27 inksa dk 

;ksxQy Kkr dhft, ;fn fn;k x;k gS fd a1 + a5 

+ a11 + a17 + a23 + a27 = 228 

(a) 1028  (b) 1026 

(c) 523  (d) buesa ls dksbZ ugha 
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61. The equation of the parabola with focus                

(3, 0) and the directrix x + 3 = 0 is ____? 
(a) y2 = 3x  (b) y2 = 2x 

(c) y2 = 12 x (d) 2 6y x  

62. The fifth term of the H.P., 2, 
1 1

2 ,3 ,..........
2 3

 

will be _____? 

(a) 
1

5
5

  (b) 
1

3
5

 

(c) 1/10  (d) 10 

 

63. If ,k N then 
4 1 4 1

2

 k ki i
equals. 

(a) -1  (b) i  

(c) 1  (d) –i 

 

64. The number of roots of the quadratic 

equation 28sec 6sec 1 0   is 
(a) Infinite (b) 1 

(c) 2  (d) 0 
 

65. The roots of the equation  

(p – 2) x2 + 2 (p – 2) x + 2 = 0 are not real 

when  

(a) [1,2]p  (b) [2,3]p  

(c) [2,4]p  (d) [3,4]p  

 

66. If cos sin ,  z i then 
1

1





z

z
is equal to 

(a) tani   (b) cot /2i  

(c) coti   (d) tan /2i  

 

67. The conjugate of 
3 2

5 3





i

i
is equal to- 

(a) 
1

(9 19 )
34

  i  (b) 
1

(9 19 )
34

 i  

(c) 
1

(19 9)
34

i  (d) 
1

(9 19 )
34

 i  

 

68. | 1| | 4| ,4x x     

(a) 
 

 
 

1
,

2
  (b) 

 
 
 

1
,

2
 

(c) 
1 1

, ,
2 2

   
     
   

 (d) N.O. T. 

 

61. ukfHk (3, 0) vkSj Mk;jsfDVjDl x + 3 = 0 ds lkFk 

ijoy; dk lehdj.k &&&&&gS\ 

(a) y2 = 3x  (b) y2 = 2x 

(c) y2 = 12 x  (d) 2 6y x  

62. H.P. g-Js- dk ikapok in] 
1 1

2, 2 ,3 ,..........
2 3

 

gksxk&&&\ 

(a) 
1

5
5

  (b) 
1

3
5

 

(c) 1/10  (d) 10 

 

63. ;fn ,k N rks 

4 1 4 1

2

 k ki i
cjkcj gS& 

(a) -1  (b) i  

(c) 1  (d) –i 
 

64. Lkehdj.k 
28sec 6sec 1 0   ds ewyksa dh 

la[;k gksxh& 

(a) vUkUr  (b) 1 

(c) 2  (d) 0 
 

 

65. p ds fdu ekuksa ds fy, lehdj.k  

(p – 2) x2 + 2 (p – 2) x + 2 = 0 ds ewy okLrfod 

ugh gSa& 

 (a) [1,2]p   (b) [2,3]p  

 (c) [2,4]p   (d) [3,4]p  

66. ;fn cos sin ,  z i rks 
1

1





z

z
 cjkcj gS & 

(a) tani   (b) cot /2i  

(c) coti   (d) tan /2i  
  

67. 
3 2

5 3





i

i
dk la;qXeh gksxk& 

(a) 
1

(9 19 )
34

  i  (b) 
1

(9 19 )
34

 i  

(c) 
1

(19 9)
34

i  (d) 
1

(9 19 )
34

 i  

 

68. | 1| | 4| ,4x x     

(a) 
 

 
 

1
,

2
  (b) 

 
 
 

1
,

2
 

(c) 
1 1

, ,
2 2

   
     
   

 (d) N.O. T. 
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69. 
3x 0

2sin x sin 2x
lim

x


 

(a) -1  (b) 2  

(c) 1  (d) -2 

 

70. If y = 
1 sin

1 sin





x

x
then find dy/dx 

(a) 
1

1 sin x
  (b) 

1

1 sin x
 

(c) 
1

1 cos x
  (d) 

1

1 cos x
 

 
 

71. The general solution of the equation 
24sin 1 is 

(a) n /6n I     

(b) n /6n I    

(c) 2n /6n I    

(d) N.O.T. 

 

72. If 3sin 5cos 5   then 5sin 3cos   
(a) 5  (b) 4  

(c) 3  (d) N.O.T. 

 

73. If n 2 3
0 1 2 3(1 )     x C C x C x C x  

..... , n
nC x then the value of 

+......+1 2 3 nC +C +C C is – 

(a) 2n+1  (b) 2n-1  

(c) 2n + 1  (d) 2n – 1 

 
74. If Sn denotes the sum of n terms of an 

arithmetic progression, then the value of         
(S2n – Sn) is equal to 

(a) 2Sn  (b) S3n  

(c) 3n

1
S

3
  (d) n

1
S

2
 

 

75. The sum of the roots of a equation is 2 and 

sum of their cubes is 98, then the equation 
is- 

(a) 2 2 15 0  x x  (b) 2 15 2 0  x x  

(c) 2 2 15 0  2x x  (d) 2 2 15 0  x x  

 

69. 
3x 0

2sin x sin 2x
lim

x


 

(a) -1  (b) 2  

(c) 1  (d) -2 
 

70. ;fn y = 
1 sin

1 sin





x

x
 rks dy / dx  Kkr dhft,A 

(a) 
1

1 sin x
  (b) 

1

1 sin x
 

(c) 
1

1 cos x
  (d) 

1

1 cos x
 

 
 

71. 24sin 1 lehdj.k dk lkekU; gy gSA 

(a) n /6n I     

(b) n /6n I    

(c) 2n /6n I    

(d) N.O.T. 

 

72. ;fn 3sin 5cos 5   rc 5sin 3cos   

(a) 5  (b) 4  

(c) 3  (d) buesa ls dksbZ ugha 
 

73. ;fn n 2 3
0 1 2 3(1 )     x C C x C x C x  

..... , n
nC x  gks rc +......+1 2 3 nC +C +C C dk 

eku gksxk & 

(a) 2n+1  (b) 2n-1  

(c) 2n + 1  (d) 2n – 1 
 

74. ;fn lekUrj Js.kh ds n inksa   dk ;ksxQy Sn 

n”kkZrk gks] rks (S2n – Sn) dk eku gS 

(a) 2Sn  (b) S3n  

(c) 3n

1
S

3
  (d) n

1
S

2
 

 

75. ,d lehdj.k ds ewyksa dk ;ksx 2 rFkk muds ?kuksa 

dk ;ksx 98 gks] rks lehdj.k gksxh& 

(a) 2 2 15 0  x x  (b) 2 15 2 0  x x  

(c) 2 2 15 0  2x x  (d) 2 2 15 0  x x  

 

 



Sky Tutorial / Parakh Scholar -50 Test  Paper / 11th to 12th Moving Students / Pg. No. | 13 

Sky Tutorials : Kabir Nagar Durgakund, Varanasi – 7510020006, 9696571381 

BIOLOGY 
 

51. All eukaryotic unicellular organisms belong 

to 
(a) Monera  (b) Protista 

(c) Fungi  (d) bacteria 

 

52. Cyanobacteria are classified under 
(a) Protista  (b) Plantae 

(c) Monera  (d) Algae 

 

53. The embryo sac of an angiosperm is made 

up of 
(a) 8 cells  

(b) 7 cells and 8 nuclei  

(c) 8 nuclei 

(d) 7 cells and 7 nuclei 

 
54. Which one of the following is oviparous? 

(a) Platypus   

(b) Flying fox (Bat) 

(c) Elephant   
(d) Dolphin 

 

55. Which one of the following is not a 

poisonous snake? 

(a) Cobra  (b) Viper  
(c) Python  (d) Krait 

 

56. Roots developed from parts of the plant 

other than radicle are called 
(a) tap roots  (b) fibrous roots 

(c) adventitious roots (d) nodular roots 

 

57. Identify the simple tissue from the 

following. 
(a) Parenchyma (b) Xylem 

(c) Vascular bundle (d) Phloem 
 

58. Phellogen and phellem respectively denote 
(a) cork and cork cambium 

(b) cork cambium and cork 

(c) secondary cortex and cork 

(d) cork and secondary cortex 
 

59. The hind brain in frog consists of 

(a) cerebellum  

(b) medulla oblongata 

(c) diencephalon 
(d) both (a) and (b) 
 

 
 

¼tho foKku½ 

 

51. lHkh ;wdsfj;ksfVd ,ddksf'kdh; tho fdlls lacaf/kr 

gSa\ 

(a) eksusjk   (b) çksfVLVk 

(c) dod   (d) cSDVhfj;k 
 

52. lk;ukscSDVhfj;k dks fuEu esa oxhZ—r fd;k x;k gS 

(a) çksfVLVk   (b) IykaVs 

(c) eksusjk   (d) 'kSoky 

 

53. vkor̀chth dk Hkzw.kdks"k cuk gksrk gS 

(a) 8 dksf'kdk,a 

(b) 7 dksf'kdk,¡ vkSj 8 dsUæd 

(c) 8 ukfHkd 

(d) 7 dksf'kdk,¡ vkSj 7 dsUæd 

 

54. fuEufyf[kr esa ls dkSu lk vaMs nsus okyk gS\ 

(a) IySfVil   

(b) ¶ykbax Q‚Dl ¼pexknM+½ 

(c) gkFkh    

(d) MkWfYQu 

 

55. fuEufyf[kr esa ls dkSu lk ,d tgjhyk lk¡i ugha 

gS\ 

(a) dkscjk   (b) okbij 

(c) ik;Fku   (d) djSr 

 

56. ewykadqj ds vfrfjä ikS/ks ds vU; Hkkxksa ls fodflr 

tM+sa dgykrh gSa 

(a) ewlyk tM+sa  (b) js'ksnkj tM+sa 

(c) viLFkkfud tM+sa  (d) xkaBnkj tM+sa 

 

57. fuEufyf[kr esa ls ljy Ård dks igpkusaA 

(a) iSjsUdkbek  (b) tkbye 

(c) oLdqyj cUMy  (d) ¶yks,e 

 

58. Qsykstsu vkSj Qsyse Øe'k% fu:fir djrs gSa 

(a) d‚dZ vkSj d‚dZ dSfEc;e 

(b) d‚dZ dSfEc;e vkSj d‚dZ 

(c) f}rh;d d‚VsZDl vkSj d‚dZ 

(d) d‚dZ vkSj lsdsaMjh d‚VsZDl 

 

59. esa<d dk fiNyk efLr"d gksrk gS 

(a) lsfjcSye   

(b) esMqyk vkWCykWUxWkVk 

(c) Mkb,UlsQsy‚u  

(d) nksuksa (a) vkSj (b)  
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60. Which one of these is not a eukaryote? 

(a) Euglena  (b) Anabaena 
(c) Spirogyra  (d) Agaricus 

 
61. Plastids differ from mitochondria on the 

basis of which of the following features? 

(a) Presence of two layers of membrane 

(b) Presence of ribosome 
(c) Presence of thylakoids 

(d) Presence of DNA 

 

62. The most abundant chemical in living 

organisms could be 
(a) protein  (b) water 

(c) sugar  (d) nucleic acid 

 

63. Glycogen is homopolymer made up of 
(a) glucose units (b) galactose units 

(c) ribose units (d) amino acids 

 

64. Meiosis in diploid organisms results in 

(a) production of gametes 

(b) reduction in the number of chromosomes 

(c) introduction of variation 

(d) all of the above 

 

65. Mitosis is characterised by 

(a) reduction division 
(b) equal division 

(c) both reduction and equal division 

(d) pairing of homologous chromosomes 

 

66. Which metal ion is a constituent of 
chlorophyll? 

(a) Iron  (b) Copper   

(c) Magnesium (d) Zinc 

 

67. Which range of wavelength (in nm) is called 

photo-synthetically active radiation (PAR)? 

(a) 100 – 390  (b) 390 – 430 

(c) 400 – 700  (d) 760 – 10,000 

 

68. Chemosynthetic bacteria obtain energy from 
(a) sun   

(b) infra red rays 

(c) organic substances  

(d) inorganic chemicals 

 
 

 

 

60. buesa ls dkSu ;wdsfj;ksV ugha gS\ 

(a) ;wXysuk   (b) vukcsuk 

(c) Likbjksxkbjk  (d) ,xkfjdl 

 

61. fuEufyf[kr esa ls fdl fo'ks"krk ds vk/kkj ij 

IykfLVM ekbVksd‚fUMª;k ls fHkUu gksr s gSa\ 

(a) f>Yyh dh nks ijrksa dh mifLFkfr 

(b) jkbckslkse dh mifLFkfr 

(c) Fkk;ykdksbM~l dh mifLFkfr 

(d) Mh,u, dh mifLFkfr 

 

62. lthoksa esa lokZf/kd çpqj ek=k esa ik;k tkus okyk 

jlk;u gks ldrk gS 

(a) çksVhu   (b) ty 

(c) “kdZjk  (d) U;wfDyd ,flM 

 

63. Xykbdkstu ,d gkseksiksfyej gS tks cuk gksrk gS 

(a) Xywdkst bdkb;ka  (b) xSysDVkst bdkb;ka 

(c) jkbckst bdkb;k¡  (d) vehuks ,flM 

 

64. f}xqf.kr thoksa esa v/kZlw=hfoHkktu dk ifj.kke gksrk 

gS 

(a) ;qXedksa dk mRiknu 

(b) xq.klw=ksa dh la[;k esa deh 

(c) fHkUurk dk ifjp; 

(d) mijksä lHkh 

 

65. feVksfll dh fo'ks"krk gS 

(a) U;wudkjh foHkktu 

(b) leku foHkktu 

(c) U;wudkjh vkSj leku foHkktu nksuksa 

(d) letkr xq.klw=ksa dk ;qXeu 
 

66. dkSu lk /kkrq vk;u DyksjksfQy dk ?kVd gS\ 

(a) yksgk   (b) rkack 

(c) eSXuhf'k;e  (d) ftad 

 

67. rjax nS/;Z dh fdl lhek ¼uSuks ehVj esasa½ dks 

QksVks&flaFksfVd :i ls lfØ; fofdj.k (PAR) 

dgk tkrk gS\ 

(a) 100 – 390 (b) 390 – 430 
(c) 400 – 700 (d) 760 – 10,000 

 

68. jlk;u la'ys"kd thok.kq ÅtkZ çkIr djrs gSa 

(a) lwjt 

(b) bUÝk jsM fdj.ksa 

(c) dkcZfud inkFkZ 

(d) vdkcZfud jlk;u 
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69. Pyruvic acid, the key product of glycolysis 

can have many metabolic fates. Under 
aerobic condition it forms 

(a) lactic acid (b) CO2 + H2O 

(c) CO2  (d) ethanol + CO2 

 

70. Which of the following exhibits the highest 
rate of respiration? 

(a) Growing shoot apex 

(b) Germinating seed 

(c) Root tip 
(d) leaf bud 

 

71. Ethylene is used for 

(a) retarding ripening of tomatoes 

(b) hastening of ripening of fruits 
(c) slowing down ripening of apples 

(d) both (b) and (c) 
 

72. It is known that exposure to carbon 
monoxide is harmful to animals because 

(a) it reduces CO2 transport 

(b) it reduces O2 transport 

(c) it increases CO2 transport 

(d) it increases O2 transport 
 

73. Which of the following cells does not exhibit 

phagocytic activity? 
(a) Monocytes (b) Neutrophil 

(c) Basophil  (d) Marcophage 
 

74. Which one of the following types of cells 
lack nucleus in humans? 

(a) Thrombocytes  (b) Neutrophils 

(c) Eosinophils (d) Erythrocytes 
 

75. The second heart sound (dubb) is associated 

with the closure of 

(a) tricuspid valve  

(b) semilunar valves 

(c) bicuspid valve 
(d) tricuspid and bicuspid valves 
 

76. The following substances are the excretory 
products in animals. Choose the least toxic 

from among them. 

(a) Urea  (b) Uric acid 

(c) Ammonia (d) Carbon dioxide 
 

77. Which of the following pair is wrong? 

(a) Uricotelic - Birds 
(b) Ureotelic – Insects 

(c) Ammonotelic – Tadpole 

(d) Ureotelic – Elephant 

 

69. ikb#fod ,flM] Xykbdksykbfll dk çeq[k mRikn] 

dbZ p;kip; laca/kh leL;k,a iSnk dj ldrk gSA 

,jksfcd fLFkfr esa ;g curk gS 

(a) ySfDVd ,flM  (b) CO2 + H2O 

(c) CO2  (d) ethanol + CO2 

 

70. fuEufyf[kr esa ls dkSu 'olu dh mPpre nj 

çnf'kZr djrk gS\ 

(a) c<+rs 'kwV ,isDl 

(b) vadqfjr cht 

(c) :V fVi 

(d) iÙkh dh dyh 

 

71. ,fFkyhu dk mi;ksx fd;k tkrk gS 

(a) VekVj ds idus esa nsjh 

(b) Qyksa dk tYnh iduk 

(c) lsc ds idus dks /khek djuk 

(d) nksuksa (b) vkSj (c) 
 

72. ;g Kkr gS fd dkcZu eksuksv‚DlkbM dk laidZ 

tkuojksa ds fy, gkfudkjd gS D;ksafd 

(a) ;g CO2 ifjogu dks de djrk gS 

(b) ;g O2 ifjogu dks de djrk gS 

(c) ;g CO2 ifjogu dks c<+krk gS 

(d) ;g O2 ifjogu dks c<+krk gS 

 

73. fuEufyf[kr esa ls dkSu lh dksf'kdk QkxkslkbfVd 

xfrfof/k çnf'kZr ugha djrh gS\ 

(a) eksukslkbV~l  (b) U;wVªksfQy 

(c) cslksfQy  (d) ekdksZQst 

 

74. euq"; esa fuEufyf[kr esa ls fdl çdkj dh 

dksf'kdkvksa esa dsUæd dh deh gksrh gS\ 

(a) FkzkWEckslkbV~l (b) U;wVªksfQy 

(c) bvksfluksfQYl  (d) ,fjFkzkslkbV~l 

 

75. nwljh ân; /ofu ¼Mc½ ds can gksus ls lEcaf/kr gS 

(a) VªkbdLihM okYo  

(b) v/kZpaæ okYo 

(c) ckbdLihM okYo 

(d) VªkbdLihM vkSj ckbdLihM okYo 

 

76. fuEufyf[kr inkFkZ tarqvksa esa mRltZu mRikn gSaA 

muesa ls lcls de fo"kSyk inkFkZ pqusaA 

(a) ;wfj;k   (b) ;wfjd ,flM 

(c) veksfu;k   (d) dkcZu Mkbv‚DlkbM 

 

77. fuEufyf[kr esa ls dkSu lk tksM+k xyr gS\ 

(a) ;wfjdksVsfyd & i{kh 

(b) ;wfj;ksVsfyd & dhM+s 

(c) veksuksVsfyd & VSMiksy 

(d) ;wfj;ksVsfyd & gkFkh 
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78. Ribs are attached to 

(a) scapula  (b) sternum 
(c) clavicle  (d) ilium 

 

79. Chemicals which are released at the 

synaptic junction are called 

(a) hormones  
(b) neurotransmitters 

(c) Haemoglobin 

(d) lymph 

 
80. Which of the following hormones is not 

secreted by anterior pituitary? 

(a) Growth hormone 

(b) Follicle stimulating hormone 

(c) Oxytocin 
(d) Adrenocorticotrophic hormone 
 

78. ilfy;ka tqM+h gksrh gSa 

(a) LdSiqyk   (b) LVuZe 

(c) galyh   (d) bfy;e 

 

79. fluSfIVd taD'ku ij fudyus okys jlk;u dgykrs 

gSa 

(a) gkeksZu 

(b) U;wjksVªkalehVj 

(c) gheksXyksfcu 

(d) ylhdk 

 

80. fuEufyf[kr esa ls dkSu lk gkeksZu iwoZdky fiVîwVjh 

}kjk lzkfor ugha gksrk gS\ 

(a) xzksFk gkeksZu 

(b) Qkyhdy LVhE;wysfVax gkeksZu 

(c) v‚DlhVksflu 

(d) ,MªsuksdksfVZdksVªksfQd gkeksZu 
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